AL
Tensile Spring

3

HERH b2iE

S45CH{2 S45CE

SUS303 SUS304

L]
L
L3 A How to order ()
H
U @
(1 CA124 - 4 - 20 -
— Al o L [ |
— | T TYPE IME RE
o \ BB E
B SASCHPE
= MxP SUSB03...orooreere
g B : mm
L3 A B d H MxP
3 15 20 25 30 35 40 1 1.8 2.4 M3x0.5
3 1
4 15 20 25 30 35 40 1.2 2 3.2 M4x0.7
5 20 25 30 35 40 2 3 4 M5x0.8
2
6 25 30 35 40 4 35 5 M6x1.0
3
8 30 35 40 45 50 25 5 6.5 | M8x1.25

CheNa  @w2zessairr ‘ info@chena.com.tw ‘ ® Egg;éggggg?ﬁ ‘ (@) bt S Rt



